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A A oA BC oA 42 Y=z
x2 =25+44,
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> Hehl 3v21lcm

AG = V52 + 82+ 102 = 25+ 64 + 100

= V189 = 3V21(cm)
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AFZEE ABCD o] 2o] &t 4 P & ol A, B, C, D ¢ 912
w, AP =2, CP =4 o|®, BP° + DP° 9] 22

A T D
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O 15

SH
=

BP2 +DP2 =22 + 42 =20




o8 93t ZFo]l AB = AC = 13cem , BC = 10cm ¢ o] S5 HANZHY
ABC 9] Y o] & +ofofg},

= V169 - 25 = V144 = 12(cm)
s (Hol) =10x 12 x % = 60(cm?)
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£0] = V82 -32 = V55(cm)
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2X1+2X54+3Xx8+4x3+5X%X2
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4224 ABC Sq' CDE:_:‘ @%O]j—, }‘ﬂ 71(2_11
124 Qo] 9l AACE £ /C = 90° ¢l A Zto|5
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AACE = A Zto| FH4Ztgo| B2

AC =CE °]1, (AC)? = 2x 200 = 400 |22

AC = 20cm ©|t},

%, AE = V400 + 400 = V300 = 20 V2
CE=20,CD=129°]2&

ACDE = metaatA gejof osf

DE = V400 — 144 = V256 = 16 ©|t}.

AABE = AECD ©|B2 =2

w2bA] Altte]E ABDE 9] =39 dol= 16 + 124 16 + 12+
20V2 = 56 + 20 V2 o]t}
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AB° =BD.BC o|2=

2 =4x9 L. x=06
E3% AD = BD.DC 0|2 &
y2=4x5 y=25




13. & a4 /A = 90°,DE = 5cm, BE = 6¢m, CD = 8cm &
BC 9] Zo]=?

A
D E
B C
D 3vV3cm @ 3+v5cm ® 4vV3cm
@ 5v2cm @5\/§cm

5% + x? = 6% + 82
x=5vV3cm
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SRR AB S| SHS
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~&B ~
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ASHAA ] djZtd el HoJolmz
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D 72v2cm? @ 144 V2 cm3 @288 V2 cm3

144
@ T\ﬁcmg ® 1443 cm3

ApzHe ol (/122 - (6V2)” = 6 V2(cm)

V=122 x6V2x - = 288V2(cm?)
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10 V67 + 97) cm

) cm?
) cm?
12 V67 + 7rr) cm?
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) cm?

o~ o~ o~ o~ o~
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— 1267 + 87( cm?)
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